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1. Suppose we had a die with three black sides, two red sides, and one white side. If
we roll this die 6 times, what is the probability of obtaining 3 black, 1 red and 2
white? (10 47)

2. If one study exame the intervention effect for the Low-birthweight infants (LBW).
One LBW group whose mother received a training program (Trainig Group; n=15),
the other LBW group whose mother did not receive any training program
(Control Group, n=20). The depedent variable is the Cognitive Development Score
(CDS). If Mean and Standard deviation for Trainig Group were 115 and 30, and for
Control group were 95 and 20, please interpret this result. (10 43)

3. Assume one study examing the association between gender and smoking
behavior, If the data is following

Smoking behavior

smoking No smoking
Male 60 40
Female | 750 150

a. Please interpret this result. (5 47)
b. If you found that female has more tendency than male to do a smoking
behavior based on this research, please comment on the validity of this result.

(5 77)

4. For the multiple comparisons among treatment means (if the number of
treatment is 5 in this experiment) in post hoc,
a. Why we have to consider the type | error in the multiple comparisons for post
hoc? And how to control the type | error in the post hoc comparisons?(10 47})
b. In this experiment, please design an orthogonal contrast.(5 43)

5. The validity coefficient for the Adult Intelligence Test (AIT, the X variable) for
predicting the freshman'’s first exam score (the Y variable) is ryy = .70. Here are
the Means and SDs for the variable X (Xyean = 40; Xsp = 10) and Y (Yean = 4.00; Ysp
=.5)

a. What is the predicted the first exam score (Y score) for an AIT score of 50? (5
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b. What is the standard error of estimate for these data? (5 47})

c. Fora person with an AlT score of 35, what is the probability of attaining a Y
score below 2? (5 47)

SBTELSY MERE (40 57)

1. CRIBR{RZ=(test bias) BRICABME T EEWEZENSE -
(a) FEFHAEFHERE (test bias) (4 73)
(b) :EEEHI{a[3E intercept bias (3 4))
(c) SHEEFIMAIEE slope bias (3 47)

2. FEETFE—(EERREIRAT case-control B3T - HW5E B AV MER LA EE
(VRBEIEERERBERE - e INER) BT — BB AT
& SR R RIS FE BB T o DU R e T S R -
(10 47)

3. FHEETERE (ARSI - /RE LT S E ER S
HYRRE PsR B BlaR A ? (10 43)

4. M ERRITEDNL T o] A5 R O P B SR 9e 5 Y B U e e T s T 2
ARG -HEVISEERATHER? (10 27)
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APPENDIX y*! UPPER PERCENTAGE POINTS OF THE x* DISTRIBUTION

APPENDICES

0
df 995 9% 975 950 900 750 .S00 250 100 050 025 010

1 000 000 000 000 00 010 045 132 2 3.84 5.02 6.63
2 001 002 005 010 021 058 139 m 461 599 7.38 9.2
3 007 01 022 035 058 121 237 411 625 7.82 935 1L3S
4 021 030 048 071 106 192 336 539 738 949 1L14 B2
5 041 055 083 L1516l 267 435 6.63 924 1107 1283 1509
6 068 087 124 164 220 345 535 784 1064 1259 1445 1681
7 08 124 169 217 283 425 635 9.04 1202 1407 1601 B4R
8 134 165 218 273 349 507 7134 1022 1336 1551 1734 2005
9 173 200 270 333 417 590 R34 1139 468 1692 1902 216
10 215 256 325 394 487 674 934 1255 1599 1831 2048 232!
11 260 305 382 457 558 758 1034 1370 1728 1968 2192 A%
12 307 357 440 523 630 844 1134 1485 IB55 2103 2334 2621
13 356 411 501 589 704 930 1234 1598 1981 1236 2434 2160
14 407 466 563 6357 779 1007 1334 1712 2106 1369 2642 2904
15 460 523 626 726 B85S 1104 1434 1825 2231 2500 2749 3038
16 5)4 581 691 796 931 1191 1534 1937 2354 2630 2885 3200
17 570 641 756 867 1009 1279 1634 2049 2477 2759 3009 334l
18 626 701 823 939 1086 1368 1734 2160 2599 2887 3153 MBI
19 684 763 891 1042 1165 1456 1834 22732 2720 3044 3285 3619
20 743 826 959 1085 1244 1545 1934 23R} 841 3141 3407 3156
21 803 850 1028 1159 13324 1634 2034 2493 2962 3267 3548 389
22 864 954 1098 1234 1404 1724 2134 2604 3081 3393 3678 4029
23 926 1019 1169 1309 1485 1814 2234 2704 3201 3517 3808 416
24 988 1086 1240 1385 1566 1904 2334 2824 3320 3642 3037 S29F
25 1052 1152 1302 1461 1647 1994 2434 2634 3438 3765 4065 4432
26 1116 1220 1384 1538 17.29 2084 2534 3043 3556 38R 4192 4562
27 1180 1288 1457 1645 1811 2175 2634 3153 3674 4001 4320 4696
28 1246 1356 1531 1693 1894 2266 2734 3262 3792 41 4446 B
20 1302 1426 1605 1771 1977 2357 2834 3371 3909 4156 4572 4959
30 1378 1495 1679 1849 2060 2448 2034 3480 4026 4377 4698 5089
40 2067 2204 142 2651 2006 3367 3934 4561 S51LBO 5575 3034 6371
50 27.96 2068 3235 3476 37.69 4295 4934 5633 66 6750 T4z 7607
60 3550 3746 4047 4319 4646 5230 5934 6698 7439 7908 8330  BRA0
70 4325 4542 4875 SL74 5533 6L70 6934 7757 B552 9053 9503 10044
BD 5114 5352 5705 6039 6428 7I15 7934 8813 9657 10188 10663 11234
90 59.17 6174 6564 69.13 7329 B0.63 8933 OR65S 10756 11314 11814 12413
100 6730 7005 7422 T1.93 9933 109.14 11849 12434 120.56 13582

Source: The entries in this table were computed by the author.

APPENDIX t; PERCENTAGE POINTS OF THE t DISTRIBUTION

2447 3.143
2.365 2998
2.306 2896

L1134 1.440
L1119 1415
1108 1.397

« a2 a2
1 1 1
[ f pry o =
One-tailed 1est Twao-tailed test
Level of Signlficance for One-Talled Test
25 20 A5 10 05 025 .01 005 L0005
Level of for Two-Tailed Test
df 50 40 30 .20 05 02
1 1.000 1.376 1.963 3.078 12.706 3L821
2 0.816 1.061 1.386 1.886 4303 6,965
3 0.765 0978 1.250 1.638 3.182 4.531
4 0.741 0.941 1.190 1.533 2776 3.747
5 0.727 0.920 1136 1.476 2.571 3365
6
7
8
9

40 0.681 0.851
50 0.679 0.849
100 0.677 0.845
= 0.674 0.842

1100 1.383 2262 2.821
1372 2228 2.764
1.363 2201 2718
1.356 2179 2681
1.350 2.160 2650
1.345 2.145 2.624
1.341 2.131 2.602
1.337 2.120 2.583
1.333 2.110 2.567
1330 2100 2552
1.328 2093 2.539
1325 2,086 2.528
1323 2.080 2518
1.321 2.074 2.508
1319 2.069
1318 2.064 2492
1316 2060 2.485
1.315 2.056 2.479
1314 2.052 2473
1313 2.048 2.467
1311 2.045 2462
1.310 2042 2.457
1.303 2.021 2423
1.299 2.009 2.403
1.290 1.984 2.364
1.282 1.960 2.326

Seurce: The entries in this table wers computed by the suthor.




